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Note: (a) All questions are compulsory. g‘“’*}? % ;

solving problems

B
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QL. A company is considering three alternative plans for fi épaﬁ i;ﬁ 7R s. 30,00,000 for a project.

£ 2

i) All equity ii) 60% equity, 40% quf iz Eg?f 111) 40% equity, 60% debt.

1: =

Shares can be sold at the rate of Rs 200 per s@‘i‘ ;Egnds can be borrowed as per detail given
below. .

Upto 6,00,000 @ 14%; Rs. 6,00,000. ' '(_)%300 @15%; More than 15,00,000 @ 18%. Tax
rate applicable is 35%. Determirigathe E?S under the three financing plans at an EBIT of
Rs.6,00,000. Calculate the u;dlfieg‘ifée point between plans (i) and (iii).

q\( £ %
cg & i COS [3+2]

Q2. The SKF company is ;smmg Rs 1000 face value, 14% 7 year debentures for Rs 20 crores.
The debentures walf b ,,e to be sold at a discount of 3%. The company will also pay an
underwriting fge of 3% on 1 face value of the debenture. Assuming a tax rate of 35%, calculate the

s

post tax cost*o‘f; deij eptures to the company.

What w the aﬁer—tax cost if the debentures are sold at a premium of Rg30?

CO1 [3+2]

Q3. a) Briefly describe the method of computing WACC for any organization. How is the
WACC used in financial decision making?

b) If the risk free rate is 6%, the return on the market is 15% and a company’s beta value is
1.75, what will be its cost of equity?

CO3 {3+2]
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Q4. a) Under which circumstances should IRR not be used for evaluation of projects?

b) The details of two projects a company is considering is as given below:

Project M Project N
Investment or cash | 2,50,000 2,50,000
outflow(Rs)
Annual cash inflow (Rs) 80,000 60,000
Life (yrs.) 6 10
Cost of capital (%) 10 10

ou ¢hoose and why?

Calculate the EANPV and MIRR of the two projects. Which one would yi
- CO3 [2+5+2]

Q5. Explain the concept of irrelevance of capital structure using any. e theories in support of

yOur answer.
CO4 (2]

Q6. How is operating leverage calculated? Why, s this caleulation important for the capital

structure decision of any organization?
CO4 (3]
Q7. Answer the following in about 50 words ;

a) How is double entry system f accounting superior to other traditional methods?
b) Why is wealth maximizatic g__§i'1perior to profit maximization?
c) Briefly describe the Du Pont analysis method of financial statement analysis.

CO3 [3*2=6)
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